Independent Events
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Probability Trees
PROBABILITY TREES EXERCISE

5 A bag contains 7 blue balls and 3 red balls. A ball is selected at random, its colour
noted and it is replaced. A second ball is selected at random and its colour noted.
Represent the various possible outcomes on a probability tree and calculate:

a) The probability both balls selected are the same colour.
b) The probability at least one of the balls is red.
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2. John takes exams in Maths and English. The probability he passes in Maths is 0.7
and the probability he passes in English is 0.6. Represent the possible outcomes on a
probability tree and calculate:

a) The probability John fails both exams.

b) The probability he passes exactly one of the exams.
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